Diff Cal - Chain Rule with Log, Exp & Inverse Trig Functions

September 08, 2014

n-l ( d 1
[x"]" =(1X [Inx]" = '7’(— P [arcsin x] = - -
] vi—Xx
ercor = CF (%) log T = I d 1
) , X (h = [arctan x| = T
G + 9@ =F (%) L G(B) [sinx] = cos% g 1
Feee) =F'g 1597 feosal = _ <X @y resecx] = e
, /— / , d _ -1
[% _ S‘F 'F ﬂ [tan x] :S-CCz)( E[arecos x] = N
! g‘t [cotx] :CS (:L)< i [arccotx] = -1
[f(g(x))]':_‘:,( ) - '( - dx 14 x2
[secx] = _
K 3 ) j 9 53C\/W i[arccsc x] = —1
[e¥] = e [escx] = X |x|[Vx2 —1
[a*]’ —af . l —cseX et X
N
| -
orecsin(x)= SN (x
28 2 farcsinx] = —
E arcsin x —m
44, f(x) = arcsec2x 1

o [arctan x] =

1+ x2
1 ( i[arcsec x] = 1
POI= 2 G
Iz X I W d—[arccos x] = =
(29" - | L
a[arccotx] = 172
d -1
a[arccsc x] = m

48. h(x) = x%arctanx

‘ A
h(x)‘-;lXa/‘m‘W\X —+ X '____I —
| + X

1
52. y =In(t? +4) — Earctani



Diff Cal - Chain Rule with Log, Exp & Inverse Trig Functions September 08, 2014

1 d 1
56. y = xarctan2x — Zln(l + 4x?) - [arcsin x] = —
—x
4 | A [ ' i[arctan x] = !
y=x- o 7'2 arckanly - — - 'Mx T
+ (2% a _
4— (_‘ 47\ T [arcsec x] NN
d -1
= _i_)i_ 4 NC‘\'DV\?)( —_ 2% A 2 @ Larecos ] T VI
l+4)( I#«X‘L N m ; [arccotx] = %1)(2
d -1
5.4 — Find the second derivative d—[arccsc x] = IxWxZ =1

‘P"(x> = 2(3(—2)’3 )

Sind €D
82. f(x) = sec?mx [&i—ﬂx):}

‘F'(x): ASecTIX éecﬂ)t{au\TTX N I

= 27T [SQC (‘ITX)jr '{'.OV\TTX

‘\: ”(x) = (21 )}“_ (-m:)j /{ovml\ + [;1\-[:Sec('l\'xsli(- (‘Eﬂhﬂé

= 27C-21 [Sec (W&)}ﬂ arx-tamyt Zu{se_crr)éj . Sec X

2 2 2
7 sec wxtanx + 27 sedtx




Diff Cal - Chain Rule with Log, Exp & Inverse Trig Functions September 08, 2014

5.4 Find the equation of the tangent line to the graph of f at the indicated point.
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Homework #5 (due Fri, 09/12)
e 2.4 #7-33 odd; #47-81 odd Chain rule

September 08, 2014

e 5.1#45-61,71 Logarithmic functions
5.4 #39-57 Exponential functions
 5.5#41-55 Log and exp functions with other bases
» 5.8#41-59 Inverse trig functions

Test 2 - Fri, 09/12
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